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more than one correct response, mark the respanse which you consider the best. In any
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examination has concluded, you should hand over to the Invigilator only the Answer
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1. After China and USA, which among
the following is the largest producer
of fertilizers?
fa) Brazil
fb] India
fel Indonesia
fd) Russia

2. In India, the total area covered under
the cultivation of food grain crops is

fa) less than 100 million hectares

fb) between 100 and 150 million
hectares

fc) between 150 and 200 million
hectares

(d] more than 200 million hectares

3. Consider the following statements ;

1. High nitrogen content and low
phosphorus content in soil
reduce nitrogen fixation.

2. The amount of nitrogen fixed
by Rhizobium with green gram
is several times more than that
fixed with lucerne.

Which of the statements given
above is/are correct?

(a) 1 only
{b) 2 only
fe) Both 1 and 2

f{d) WNeither 1 nor 2

N-DTQ-K-CIT/12A
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4. Consider the following :

The prerequisites that must be met
for the satisfactory production of
rice are

1. a relatively high temperature
during the growing season

2. loose-textured soil to allow
regular secpage of water

Which of the above is/fare correct?

fa) 1 only
(b} 2 only
fc) Both 1 and 2

fd} Neither 1 nor 2

5. Azolla, grown as a green manure for

rice cultivation, has a limited scope,
because

fa) it requires adequate water
supply for about a month
before planting

(b} it requires very high dose of
phosphate supply for its rapid
multiplication

fe) it is affected by insect-pests

fd) its seed is not available as
it does not sporulate under
Indian conditions

Dream Dare Win 2
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(a)

(b)

_

Which of the statements
above is/are correct?

The Mini-Mission-II of the
Technolegy Mission on Cotion
is being implemented in 45
identified districts of 6 States
anly.

given

8. Which of the following comes closest
to the definition of opportunity cost
of product A?

The market price of the factors
of production used in the
production of product A

The walue of an alternative
product B which could have
been produced with the same
guantity in factors of
production used in producing
product A

N-DTQ-K-CIT/12A

6. Consider the following statements : fe) The market price of the factors
1. The National Food Security of production required to
Mission has been so far produce B
launched in 160 identified
districts of 12 States only. .
5 {d) The market price of product A

9. Consider the following statements
about the competitive relationships
between two farm enterprises :

1.

Some amount of one product

)y must be given up to increase
(b) 2 only the level of the other product.
fc) Both 1 and 2 2. Marginal rate of substitution
between the products | is
{d] Neither 1 nor 2 negative.
7. Marginal product of an input is zero, 8. Thay: ‘may - Wnbsitate | at
kaam constant rate, increasing rate
or decreasing rate.
fa) the total product is maximum
fb) the marginal product is 4, Most of the decisions regarding
maximum choice of farm products are
. . related to decreasing rate of
(¢} the input is not used ihatietion.
fd) the average product is
maximum

Which of the statements given
above are correct?

(a)

(b)

(c)

(d)

1,2 3and 4

1, 3 and 4 only

1, 2 and 3 only

2, 3 and 4 only

Dream Dare Win
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10. Consider the following statements ; 12. Consider the following :

In a classical production function

relationship, the APP and MPP is as
follows :

1. APP>MPP at Il stage
2. APP=MPP at the end of I

Average Physical PFroduct (APP)
measures the

1. efficiency of the variable input

2. level of output per unit of input stage
3. additional output due to the 3. MPP> AFF at 1ll stage |
use of additional input 4. MPP is negative and APP is

positive at [T stage

Which of the statements given Select the correct answer using the

above is/are correct? code given below .
Code :
(@ 1 and 2 (@) 1 only .
fb) 1 and 3
(b) 2 and 3 ¢} 2 and 3
(d) 1 and 4
fc) 1 only
13. Match List-1 with List-Il and selcct
(d 2 onl the correct answer using the code
4 given below the Lists :
List-] List-lI
11, "Mechanization in agriculture causes A, MR=MC 1. Equimarginal
displacement of agricultural return
labour.” Which one of the following B. AX,/AX, = P, /P, 2. Optimum
does mot fully support this view- : product
point? combination

C. AY/AY, =P, [P, 3. Cost
(a) There is a greater outflow of siledmlsatiin

agricultural labourers to the

= . timum
cities in search of jobs D: MRy =MRy, ! E‘fﬂl of input/ .
output
{b) The total number of man-days Code :
utilized in fact decreases after .
mechanization (a] A B C D
<4 3 2 1
fe} There is a tendency among (b) A B c D
agricultural labour to improve 4 2 3 1
their skills fe) A B - D
| 3 4 2
fd) The marginal productivity of fd) A B C D
labour will decline 1 2 3 4

N-DTQ-K-CIT/12A 6
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10. fr=fefian wed w faan fifo .

11.
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(b) 233
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12. frefefEs o fan fifs .

G IE G wEw #§ APP i

MPP =1 #Y 39 W&R 8§ 8 :

1. 11 3/5#0 3§ APP > MPP

2. [l aen & =4 § APP = MPP

3. [l 3/@ET= § MPP > APP

4, M ¥EeEn # MPP #omeds s
APP 1A B 2

44 fie ToEr w1 owEm W ogd I
g

L T3

fa) = 1
(b} 133
fe) 233
(d 134

13. -1 # gdn @ gifee i qo
gt & 9 Ry 1 g W W@ = oad
W'ﬁﬁ'ﬂ‘:

-1 -1

A. MR=MC 1. wndta-
B. AX,/AX, =P, /P, 2. 3gaW 3R

C. AY,/AY, =P, /P, 3. @A fewm

D. MR, =MR,, 4. fiam /3eme
EBaH L
FT 2
@@ A B C€C D
4 a3 2 1
@A B _C -D
4 2 3 1
fe)] A B C 8]
1 s 4 9
d A B C D
1 :.. 3 4
[P.T.O.
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14. Match List-l with List-II and seclect
the correct answer using the code
given below the Lists :

List-f List-II
[Farm Income) (Measure)
A. Family Labour 1. GI- Cost Ay /A,

Income
B. Farm Business 2. Gl-Cost A;/A,
Income - Family labour
wage
C. Net Income 3. Gl-Cost B
D, Farm Investment 4. GI-Cost C
Income
Code :
@@ A B C D
1 2 3 4
fb) A B c D
3 4 1 2
fe) A B c D
1 3 2 4
[ A B C D
3 1 4 2

15. Additional quantity of output, added
by an additional unit of input is
known as

(a) Average product
fb) MWarginal product
fej Total product

{d) Average factor product

16. Which one of the following formulae
gives the correct measure of Rate of
Capital Turnover?

fa) [Net Income/Total Value of
Farm Assets} x 100

(b) (Farm Business Income/Total
Value of Farm Assets) x 100

N-DTQ-K-CIT/12A
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fc) [Gross Incomef/Total Value of
Farm Assets] x 100

{d) (Capital Investment/Total
Value of Farm Assets] = 100

17. The ridge lines represent the point of
maximum  output from fixed
guantity of other inputs. On ridge
lines, the MPP is

fa) equal to one
{b} equal to zero
fc}] greater than zero i

fd) less than zero

18. The intercropping of maize and
soybean leads to maximization of
returns in comparison to sole
cropping of maize or soybean.
Which one of the following
describes the enterprise relation-
ship leading to higher returns from
maize and soybean?

fa) Supplementary relation
{b) Complementary relation
fe) Competitive relation
{d) Substitution relation
19. What is the first naturally eccurring

cytokinin, isolated from plant
tissues?

fa) Kinetin

fb) 6-Furfuryl amino purine
fc) Zeatin

(d] Benzyl adenine

Dream Dare Win 8
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14, @i % gf-n 4 gafem Hifbw @

gfedt % 2 fow g = owm = af
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Toh-1 -
(wrd ) (wma)
A, fEmr sl 1. GI-®F| A, /A,
HE
B. W sEEe 2. GI-¥PF® A, /A,
EY e — ftam sfeen waregh
C. fam s 3. Gl-"rE B
D. siifdnsm 4. Gl-@mAC
L T8
@@ A B C D
1 2 3 4
M) A° B C D
3 4 1 2
€ A B C D
1 3 2 4
(d) A B € D
3 1 4 2

15. 3wk 1 wfifs men, Gl fawm &
wfafen g st 1 B, w0 Fed B9
(a) 3fEa ImmR
(b) A I
(c) FE IMT
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16. Frafafas g6t & @ s9-w = §f s
2 | u Ea 27
fa) (Fraa s/ eni viwmfl 1 @
Ted) x 100
) (wH =rEam /| /ed afteedEt
1 Fe §ed) x 100

N-DTQ-K-CIT/12A

Dream Dare Win
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18. e swaEr AT F uge wen A ger
A u¥ 3 duEw F wwoeEm @
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(b) T T=Y
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20. What is the role of Mn?* in 23. The aerobic respiratory cycle is
photosystem-Il complex of photo- associated with nitrogen
synthesis? metabolism through which of the
(@) Release of O, following intermediate compounds?
(b) Activation of RuBP carboxylase (@) ' a-Ketoglutaric acid

fe)  Production of ATP
{d) Reduction of NADP* fb) Oxalosuccinic acid

fe} Citric acid
21. Which one of the following nutrients

is closely related with the d) Malate
carbohydrate transport within the !
plants? :
\ 24. In which of the following does the
(&) Manganess biochemical fixation of CO, by
(b) Potassium RuBP carboxylase in plants having :
fe) Phosphorus C, photosynthesis take place?
(d) Boron (a) Chloroplasts of the mesophyll
22. Match List-I with List-II and select (b) Cytoplasm of the bundle
the correct answer using the code sheath cell

given below the Lists :
(¢} Chloroplasts of the bundle

List-I List-1 sheath cells
{Enzymes) (Substrates)
A. ATP sulfurylase 1. N, (d} Eeyl':nplasm of the mesophyll
B. Asparagine 2. Glutamine and
synthetase aspartate
Y 25. Consider the following statements :
C. Glutamine 3. Sulphate ; ; !
synthetase 1. Auxin has a role in rdc‘lulnng
_ & 3 the onset of leal abscission.
. Nitrogenase o utamate an .
B B 2. 1AA is synthesized primarily in
ammonia
the roots.
Code ; Which of the statements given :
faj A B G D above is/are correct?
1 2 4 3
Bl.A B e D (a) 1 only
3 4 2 1 Wy
€l A B C D oF 3 only
s 2 4 1 (c) Both 1 and 2
) A B G D
1 3 2 4 fd) Neither 1 nor 2
N-DTQ-K-CIT/12A 10
—
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20. WHEI-HTENV & WETEEH-1 wea §
Mn?* &t siftem w0 87
(a) ©, 1 H=A
(b) RuBP FwEiaicra &1 Al
(¢} ATP %1 Jeqmeq
' (d) NADP' & A0=9

21, frafafas vt & @ FF-w w Ot |7
FaEEe: Haed & wy fwem @
qrafya 27
(@) Frfi
(b) wfiran
fc) HTERIH
(d) @i

22, g1 &t g @ gafem Hifw
gt & 9 Ry g w1 v w=oad
mgﬁu:

-1 w1
(dwmgm) (srwm)
ATP HeR[{iea . Ny
. et firizs 2. e i
TETeE

C. wiR Redde wee

ELECEiEE] 4, Tz ¥
ElER)

>

m

o
@

e
(a)

(b

fcl

—> WP W =
WHp wE 0 &3
MO 2O NDO A0
0 ~0 =0 Qg

(d)
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23. T=fefas goadf e 4 @ e go

aE WY 9%, TEdeE IneEg H
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(a) a-FRVEF =
(b) iEEEEFRF pw
fc) Tafgem s

(d) et

24, C, WHR-Hwmw Fe dEl #§ RuBP

FEEEEE §W CO, * W& TEElE
wrfte Preiffiaa & @ fat g 27

(@) ToiHEAEE & EftaeEs
(b) WUEE Wresw HiNE H FAEEA

o) Wvem wArwE FfEE & -
waw

(d) woioaE wifiE &1 s

25, frefafas wwe v famm Hifs

1. vof e & wow # aff@E
e faemamnrd 61 @it §)

2. 1AA %1 %R em: wel A de B
I wwt # @ F-a/@ wdh v/E

fa) A 1

(b) ¥aw 2

fe) 132 2M

(d) ami1smad2
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26. What is the first formed product of 30. Which one of the following growth
carbon assimilation in C, plants? substances extends the lifespan of
detached leaves?
Oxa i i
fa) loacetic acid (@) Cytokini
fb) Malic acid {b) Gibberellin
() Asparfic sl {c) Abscisic acid

{d) Indoleacetic acid
fd) 3-Phosphoglyceric acid

31. In an F, population of a cross, if fifty

27. What is the key intermediate of citric percent  recombinant individuals
acid cycle for biosynthesis of fatty are observed, which one of the :
acid? following is the main cause for this?
al Se tion
fa) Pyruvic acid (@ e

(b) Independent assortment
fc) Linkage
fc} Acetyl-CoA fd] Sexual reproduction

fb) wa-Ketoghataric acid

(d) Citric acid 32. Consider the following statements

with regard to the functions of the

28. What is the starting material of centromere in the chromosome ;
biosynthetic pathway of 1. Centromeres are the centres of
gibberellins? movement of the chromatids or

chromosomes during anaphase
fa) Mevalonic acid separation,
(b) Carporyl pyrophosphate 2. Acentric chromosomes lack

the capacity to scgregate in a

fc) Kaurene regular fashion.

3. Crossing-over in onec arm of a

f{d) Acetic acid metacentric chromosome does .
not affect the crossing-over in
the other arm of the same

29. Which one of the following can cause chromssamo: 3

the sprouting of potato tubers?
Which of the statements given

fa) Phenol above are correct?
(b) Ethylene (aj 1,2 and 3
fb) 1 and 2 only
fe) Auxin
fe}] 2 and 3 only
{d) Thiourea fel) 1 and 3 only
N-DTQ-K-CIT/12A 12
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. C4 it # e @i @ fffa seen

I wA-ar B

(a) S s
(b) e s

(c) vEEE ww

(d} 3-wienrengaiE T

. F I ¥ W9 g & oy falds

e = S HegEd] S 87
fa) wrEETEE 3

(b) a-HEneefE

fe) ufefEE-CoA

(d) fafgw s

. Bt % 93 el wrl w1 amieeE

qerd @Y-an &7

(a) WA o

(b) TR TEdHTE
fe) I

(d) wHiEF s

. Frefefm 4 8 9w v e & == 8

g I9A Al B
(a) HHTA

(b) ui¥Er

(c) HTiaeA

(d) errgfen
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30. Fmfefan afes vl 3 @ #h-w
fafira ufvmt i shaa-safa i agm 27

(@) BrEETEAA

(b) Traifem

fc) ufskfaw swa
(d) EEERE

31. UF HR Al F, @l &, ot g=mw wfowa
e wfe iE B s B oA
fafafas & 4 s9-o W wa g=
T B 27

fa) e
(b) TR HIHEA
() WHEETHM
(d) i

32, A H gEeE F oFEl & owed #
Frafefas wwat o fean fifsn -

1. g v yuw 4 sEfy A
wdREl sean mE A ofa
FZ A E

2. fafm =1 &, & pwgE A
TYaFA I A 1 A w2

3. wedEl PRE A oww oyw #
s-fafma =t g & gad g
& f-ffm 2 wofse o @
.l

I wadl § @ -8R wd 87
(@) 1,233
(b) ee 1 s 2
(c) aw 2 3R 3
(d) %=e 1 s 3
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! 33. Match List-] with List-Il and select 35. A mutant gene in Hordeum vulgare
' the correct answer using the code produces albino seedlings at
given below the Lists : temperature below 8 *C. But when
) ) the seedlings carrying this gene
_ List-1 {-"“‘H are grown at 19 °C or above, they
' (Plant organ) (Ploidy level) develop into normal green
A. Nucellus 1. n seedlings, The characters whose
g development depends wupon a
B.. Synergid & 2n specific environment are known as
C. Endosperm 3. 3n
fa) Discrete characters
Code |
(b) Quantitative characters
al A B C
(a) 2 3 1 fe] Threshold characters
b) A B c (d] Pleiotropy =
1 2 3
36. The condition in which a gene in a
fe] A B C homozygous recessive condition
1 3 2 (aa) masks the effect of one or both
the members (B or bb) of another
d A B C gene pair is known as
2 1 3
fa)] Duplicate recessive epistasis
34. If a female plant of genetic (b] Recessive cpistasis
constitution AABB is crossed to a ; : ;
male plant of genetic constitution fe/) Dominant cpistasis
aabb, and the F, is testcrossed, the ) J
genetic constitution of testcrossed (d) Dominant and  recessive
progenies will be cpistasis
fa) 1 AABB : 1 AAbb : 37. Which terminology is considered to '
1 aaBB : 1aabb be correct when two genotlypes
produce the same phenotype due to
(b) 1 AABB : 1 AaBb : different environments?
1 AaBB : 1aaBb
fa] Genotype
fc) 1 AABB : 1 AABD : 5} Phsnotie
1 AaBB : laabb (o pe
fe) Phenocopy
{d] 1 AaBb : 1 Aabb :
1 aaBb : laabb (d] Pleiotropy
N-DTQ-K-CIT/12A 14
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33. g1 # geA-11 ¥ yafea #ife o 35. giefan g § FefEdt ot 8 °C & 9

g & A= By m g w1 v woad A W e de 3w w R
I gf af wa g o A aws w19 °C
W 3EET 39 i o T W R, A
-1 Heit-11 3 g @y A fasfm @@ # 3
(ur=g zm) (vrforan =) g, e fawm o Rfte wiEo &
7
& e e R ol 0 &, =0 weea &7
B. wem =ifi 2, 2n fa) Tafa® sam
C. yomiy 3. 3n (b) WETHE A
fc) FEeh g
Fe
@A B C (d) EgvfarE
2 3 1
k) A B C 36. A =, fnd v woygedt sooelt 2 (aa)
1 2 3 At S 9 S gw & us avan gl
© A B C weEd! (B 3i9an bb) & wwiE #) dedl B,
1 3 2 T el 8
d A B C (a) o srawr w=erm
% : W (b) WUWIE WEerE
34. 4f2 AABB A e 9@ der 9ey fc) Wl wEEr
%! aabb WA @ T W URY B
waf e s R s R, @ whend (d) SRR 3 ST S
" Fd § 7 wiend wwia wate $i
TR See T e 37. sm fafim whot & s @ sfiawey
{@) 1AABB : 1 AAbb : TAF AN # 369 &d g,
1 aaBB : laabb - s wdt ansh s 27
" IMEB:ITBA;B'laaBb Ry S—"
fe} 1 AABB : 1 AABD : fb) TEIGEY
| AaBB : laabb
= (c) W
(d) 1 AaBb : 1 Aabb :
1 aaBb : laabb (d) =gsfEa
N-DTQ-K-CIT/12A 15 [P.T.O.
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38. What is the

‘start codon' in
prokaryotic organisms?
fa) AUU
fbj UAG
fe) AUG
(d) AGG

39. Which one of the following radiations
is non-ionizing?

fa) X-rays
(b)
fc) Fast neutrons
fd) UV light

Gamma-rays

40. Which one of the following inter-
specific crosses will be chosen
to artificially resynthesize the
Gobhisarson (Brassica napus) oil-
yielding crop?
fa) Brassica campestris =

Brassica nigra

Brassica oleracea x

Brussica nigra

Brassica campestris x
Brassica oleracea

Brassica campestris x
Eruca safiva

(b}
(c)

fd)

Www.jeywin.com

R ]

43. Male sterility is
production of

used for the

fa) composite varieties
(b)
(c)

(d] pure line varieties

hybrid varieties

synthetic varieties

44. Open pollination of a group of
genotypes (generally selected) in
isolation in such a way to promote
random mating inter se is called

fa)
(b)
fe)
(ed)

Biparental cross
Polycross
Three-way cross

Backcross

45. Primula is a typical example of
heteromorphic saprophytic system
of incompatibility where two types
of flowers, pin and thrum are
observed. The compatible mating
does occur in the case of

fa)

pin % pin flowers

fb) thrum x thrum flowers
41. Which one of the following seeds . a :
belongs to recalcitrant category? (c) pin x thrum flowers or  its
(@ Potato reciprocals
(b) Coconut (d] all possible combinations
fej Wheat
({d) Sesamum 46. Which one of the following crops is
often cross-pollinated?
42. At which temperature range is (@) Maize
cryopreservation done?
fa) -150°C to -196°C {b) Groundnut
fb) -40°C to -60°C )
) 0°C ta 4°C fe] Rice
fd) -1°C to -20°C (d) Sorghum
N-DTQ-K-CIT/12A 16
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39

41.

. UikdeEdl WAl AW W # g

27

faj AUU
(h) UAG
fc) AUG
(d) AGG

. Fefafas fafeet 4 4 FR-m o
Ecioceaiil o
(@) TEa-faEl
(b) -l

fc) Fa =M
(d) Ho dlo Wem

40, Prafafaa srmoendg @6 § 4 g o

F W49 a6l IwE w4 el nfreE
(#ftepr dum) A wEa W FHm dh w
qAHTefiE w0 & fae fm smom?

fa) #ﬁ?ﬁ?ﬁf@ﬁxmﬁm

(b) @ stfyar < e FEm
(c) R FEafeew « #ew s
(d) R FFEH « 7 H HerT
frafefan et 4 @ #R-w = gaE
"l % srla snan 27

fa) AT

(b) =iEE

fc) T
(d) o

. Tem am ufter @ femean e

41

fa) -150°C ® - 196 °C
(b) -40°C ® -60°C
fe) 0°C & 4°C

{d -1°C 8 -20°C

N-DTQ-K-CIT/12A

Dream Dare Win
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43, W dFwa w1 IEm fFEE Ires 9 e

e 27

(a) Tafdm fet
(b) W

(e} wivere frat
(d) Y@ v e

44, o # agfess @ # defie F@ F

fom o & Srwedl & @ wE (v
O ) T SHEE GO T e 87

(a) ThemEl @t
(b) FgER

fe) FE-urfl @z
(d) Wt He

45, yrggen sfadsam A frored g

yorelt @ us wedl 3EE R, Wl @
v % gm, i o owm | em §
e et & g g ot e B9

fa) T x fim gw

(b) % x W I=

fc) T x w7 HuE 3EF o
(d) it wemfam wda

46, frafafaa weal 7 @ #9-d@ v

Q- i 27
fa)
(b) e

(e} ®=
(d) wHEm

[P.T.O.
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47. Consider the following events which 49. The production pessibility curve is
are significant in the development also known as
of improved varieties/hybrids of
plants : fa) Iso-cost curve
1. Morgan discovered genes on
chromosomes (b} lso-product curve

2. Knight noted that male and
female parents contributed
equally to F, generation

fc) Iso-revenue curve

{d} Isoquant
3. Correns and de Vries

rediscovered Mendel’s laws of

heredity 50. Introgression can be defined as .
4. Tomato carrying Flavor Savor
gene introduced fa) transfer of a few genes from
one species into the full diploid .

What is the correct chronological

chromosome complement of
sequence of the above events?

another species

1-2-3-4
f@) fb) transfer of a haploid set of
(b) 2-3-1-4 chromosomes of one species
into another by removing one
€ 3G-1-4 haploid set of chromosome
fd) '2-1-4-3 complement of another specics

fe) substitution of a few genes of
one species by some number of
genes of another species

48. Consider the following statements
associated with self-incompatibility
in crop plants ;

1. Heteromorphic system shows (d) substitution of full chromo-
only gametophytic control of some complement of one
sell-incompatibility. species by the full chromosome

2. Both sporophytic and complement of another specics

gametophytic controls of self-
incompatibility are found in

homomorphic system. 51. The components of a synthetic

variety consist of a number of &
Which of the statements given

above is/are correct? fa) open-pollinated varieties
fa) 1 only (b) inbred lines tested for GCA
(b) 2 only
inb li te: for SCA
&) Both:y and fe) inbred lines tested for
fd] Neither 1 nor 2 {d) inbred lines
N-DTQ-K-CIT/12A 18
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47. TrefaRan geaed w fam fif =it e
1 gufl i /gl & fawmw § weeg
£

1. wnfa 3 gt o i i oEsn @

2. e 3 g & T s w3
a9 ¥4 A F, fid # dee ek

3. ®ew s @ W 1 e &
st Pt = g @

4. WA B -4 T
I TeATH! F B FEAG 8
(a) 1-2-3-4

b) 2-3-1-4

fc) 3-2-1-4

fd) 2-1-4-3

48, ¥ URY # W-woraw ¥ weEEE
Frafeafiae o w fomm ife .

1. Tawwedt goreft & -snnaa & Hae
ytgivd) e R 21

2. WA wue! § E-ETEaE #@

i -gafirdfl afn gewafiet www
% 2t dt e fred )

I Fue 4 @ wA-m/a ad ¥/E
(a) FEe 1

(b) & 2

fe) 1 32 2F

(d) Fd1smad2

N-DTQ-K-CIT/12A
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49, IRA g 9% F1 R ol g @ o
AR &7

(a)
(B)
)

HHE =7id 956
AR T

HHHE T G5k

(d) TETA WA

50, Fwima ® e wwr gfonfa R oW
w27

(a)

(b}

(c)

(d)

uw W i ww A = amr_arrfa
& i ffora 7o g & T

us Wi @ 5 F I PRE &
ush o wEE e, s
WG WG Ok TEE fE O UE
anyfing gy ) gerE e s R

s wifa 4 <t i §8 W= T
uF Wi 6 Fo < ol

s wife F ol PRE T o O
Wit & ool Ui e o wfieme

51. % Hfvew Few ¥ ues s wneey @
a8

(a) wga-H FmEe womiiE

(b)

fe)

(d)

GeA & fog wiim  aga-d
A:9ET FIEH

sca & fou viifdm =gaw
T FIE

HqEA-8 A S

[P.T. O
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52. Consider the following crops : 54. Free Al3' ions contribute to
1. Bajra ; few
fa) mnative acidity
2, Cotton
3. Maize fb) potential acidity
4. Rice fc) active acidity

Which one of the following is the
correct sequence of the above crops
according to the period of the
development of first hybrid varieties

S e e e |

(d) nascent acidity

§5. Match List-l with List-Il and select

inilndiad the correct answer using the code
given below the Lists :
(@23 1nd List-1 List-1I
(b) 1-3-2-4 (Type of mineral/ (Specific example)
rock) X
fe) 3-1-2-4 A. Primary mineral 1. Quartz
B. Cl i 2. Sand
d) 3-2-1-4 a_',‘r mineral stone
C. Sedimentary 3. Marble
. : rock
53. Match List-1 with Lmt—?I and select D. Metamorphic 4. Tllite
the correct answer using the code roclk
given below the Lists :
Code :
List-I List-IT
(Crops] (Varieties/ Hybrids) faj A B C D
A. Wheat Kiran, Arun 1 4 2 3
B. Maize CPAN 3004, fb) A B c D
Raj 3777 1 2 4 3
C. Rice Nandi 32, Ananth fc) A g 8w
D. Pearl millet Tulasi, Heera 3 4 2 1
For e ) A. B & D
3 2 B 1
fa] A B C D
2 4 1 3 56. Which one of the following pairs is {
not correctly matched?
B A B C D
3 4 1 2 fa) Sphalerite : ZnS
fc] A B C D b) Hausmannite : MnO,
2 1 4 3
fe} Magnetite : Fe,0,
fd] A B C D
i s & O (d) Variscite . AIPO, . 2H,0
N-DTQ-K-CIT/12A 20
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52. FrafafEs wwet w G Hif 54, T AlI** s feed dvem @ 27
1. @wm (a) Wrga (i) s
2. w9 (b) PATH] 3w
3. W fc) wfEa e
4. HH

(d) FawTa Al

A A wem ww fEel & fBewm 6
safu & sigan, frafofaas 4 @ #9-w 55. ¥l ® gefl-n @ galea i

s 39 e w1 w6 S 87 gfwt & A9 foo o g2 w1 g W= owd
(a) 2-3-1-4 W g
(b) 1-3-2-4 ol it
9, S (afrm/fe = wwn)  (Fafing zameon)
(d 3-2-1-4
A, i wf= 1. =HfEH
53, g1 = - @ gafem ey an . vl 8
gfedt & i e e g2 @ wE woad mi
Fw g ; C. waud s 3.
D. #Awaia i 4, e
Hei-1 -1
(wwe) (Form /v w2
@ A B C D
AR Ly ey 1 4 2 3
B. @l 2. CPAN 3004,
i ) A B C D
Ray 3777 1 2 4 p
G B B, T 3% TR @ A B C D
D. @rsi 4. e, @ gt 2 1
[ A B C D
*e . 3 2 4 1
R SD & s6. Peiflan il § @ Pw v g
2 & 4 @8
Tt #7
fb) A B o D
3 4 43 (a) e : ZnS
£/ A°© B C D (b) TR : MnO,
(d) i 113 :: an () Whewz : Fey0,
3 a1 4, .2 (d) &fEwz  : AIPO, -2H,0
N-DTQ-K-CIT/12A 21 [P.T. O.
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57. hn_iun gx-::hange is significant in soils 59. Which one of the following pairs is
high in correctly matched?
fa) 2:1 clays and hydrous oxides
of Fe and Al fa) Dickite : 2:1 non-expand-
() 1:1 clays and hydrous oxides ing crystal lattice
of Fe and Al
fcg 2:1 clays fb) Illite : 2:1 expanding
(@ 2:1:1 clays crystal lattice
58. Match List-1 with List-1I and select oyl Sacsie:, _2:2 nDn-cme_-ld'
the correct answer using the code ingierystallattics .
given below the Lists :
List-I List—IT (d) Saponite : 2: 1 expanding
{Dingnostic {Major feature) crystal lattice
herizon)
A, Mollic 1. Brittle pan, usually
Iga_mj.r textured, 60. Which one of the fnﬂawing clay
weakly cemented minerals is formed under wvery
B. Fragi 2. Ci il i alfarct advanced stage of weathering?
by physical
movement or by fa) Chlorite
chemical reactions
C. Cambic 3. Thick, dark- (b) lllite
coloured, high base
saturation, strong
- E—— fe} Montmoarillonite
D. Placic 4. Thin pan cemented
with iron alone or (d] Kaolinite
mManganese or
organic matter -
Code : 61. Fulvic acid is soluble in
(@) A B i ©Q D
3 2 1 4 fa) both acid and alkali
fb) A B C D
3 1 2 4 fb) acid only
£/ A° B C D
4 2 1 3 fe)  alkali only
d A B C D
4 1 2 3 {d) organic solvents only
N-DTQ-K-CIT/12A 22
O ————
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57. et # foefefaa # 4 fewh sifawm @

s fafiem vewgl @ 27

fa) 2:1 gfvwnd 3R Fe @@ Al &
weraifem sfeags

(b) 1:1 gt 3w Fe 7w Al &
Sedifem wiaage

(c) 2: 1 yierend

(d) 2:1:1 gieem

58. -1 = get-n & gifw it @
gl & A9 Re m gz w5 W@ w® ad

mﬂﬁq:

-1
(Frerfes wemw
feafa)

A, wifgs 1,

B. Wefiam 2.

C. FfEs 3.

D. =i 4.

fa)
(b)

(c)

0 b W W

(d)

@D o@E -3 D

N-DTQ-K-CIT/12A
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-1
(g wean)

W1 g9ed, WI4: gHeE
134, gea e
CUGERIGEECE]
vartes siilEast g
wurafta 3gEn gfafda
s, mEn U, 3= gR
HRA, g W
Faw wre weD Hrfe
U FEE 99 &
H19 HATRE T 58
e

RO —~0 8O =0
g wp +#0 &0

23

59, Fp=feafas goi 3 @ #19-w v gafem 27

fa) fewz : 2:1%-Feafm fee
EIcE

b) ez : 2:1fawfE Gees
HATel®

fe) Awgz : 2:2W-fawia feea

EIGES

(d) Q‘ﬂ?ﬁ’z . 2.1 e fmea
EIEED

60, Frafafen & @ ®-w w afe wfm,

gy % Hfo A e oW 27
(a) iR

(b) T

fc) Wvdfemge

(d) fferTee

61. gioum s fmil gemefier &7

@) 3% 9 §H N
(b) Faw ;=
fc) Fam &w

(d) Fa@ J= faas

|P. T.O.
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62. Consider the following : 65. Which one of the following pairs is
Organic matter in soil influences not correctly matched?
1. soil moisture (a) Vertisols : Smectite
z :::: ::_::f:ﬂ fb) Oxisols : Vermiculite
4. soil texture fc) Histosols: Organic matter
5. soil temperature

(d) Andisols : Allophane
Select the correct answer using the

code gi :
© grodw elow 66. Potential-determining ions on the

Code : exchange complex of soil are .

Na* and K*
fa) 1,2, 3 and 4 only I%; Na™.en

) 1,3, 4 and 5 only (b) ca®* and Mg*
fc) 1,2, 3and 5 only fe) H' and OH"
(d 1,2, 3,4and5 (d] Cl- and NOj
63. The ability of common ions to 67. Higher saturation with which of the
flocculate soil colloids is in the following ijons by seil colloids
order of causes deflocculation?
fa} Al>Ca=H>Mg>K>Na ([a) Ca?*
fb) Al=Ca=H>Mg>K>Na B) Fe2*
fc)] Ca>Al=H>Mg>K>Na ) Na*
fdf Ca<Al=H>Mg>K<Na @ At
64. According to USDA taxonomy, which
one of the following constitutes ‘soil 68. The method of extraction of available .
arders™? P in acid soils was given by
fa) Gelisol, Mollisol, Entisol (a) Olsen et al (1954)
fb) Mollisal, Entisol, Fluvisol (b) Bray and Kurtz (1945)
fe/ Entisol, Fluvisol, Gelisol fe) Subbaiah and Asija (1956)
{d} Fluvisol, Gelisol, Mollisal (d) Chesnin and Yien (1951)

N-DTQ-K-CIT/12A 24
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62, Ffafigs w faam fifsw 65. Frefeifgs gwi 4 & #9-w ws gifem
g1 3 % vl o e 2 we
1. e sk (a) Al ;TR
2. vz awel A (b) wiagate . wfieEme
3. HE WAl @ (¢ Fommia . o9 g
4, yEmTEF (d) wfEwi . A
5. el NEE W
2 MY ™ T W W A IR 66. 21 % fafref @9 w #9-8 fva-Puie
9fi A o 7
(a) Na* sk’
He

(b} Ca 2+ 3:h1M32+
fa) ¥ 1, 2, 33K 4

b) ¥aa1, 3,435
fc) #a= 1,2, 335 fd) €1~ 3 NOj
d 1,2 3 435

) H* swoH

67. W& wemee g Fraferfian & & few smm

. A i 7= wgf @ sl @ 87
w01 it g e w27 (@) ca?*
fa)] Al>Ca=H>Mg>K>Na (b) Fe?*
fB) Al=Ca=H>Mg>K>Na ) Na*
fc) Ca>Al=H>Mg>K=>Na W A3

(d) CasAl=H>Mg>K<Na

64. USDA @fiet & sigam, Frafafias # & - okl e

- T e T A7 fown & oft?

(o) et wihmte, Wzl fa) Hfe@s 3f 3179 (1954)

(b) witerala, ufute, it fb) & 3t FH (1945)

() ufete, wofwte, AfmwtE fe) G AR wwdisn (1956)

(d) wifamte, Sfemta, At (d) FufE i T (1951)
N-DTQ-K-CIT/12A 25 [P.T.0.
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69. Match List-1 with List-Il and select Cade :
the correct answer using the code @) A B c D
given below the Lists : 2 4 1 3
List-I List-IT M A B C D
(Method of (Useful range kpa) 3 1 4 2
measuring soil fc) A B [ D
moisture) 3 4 1 2
. P d A B C D
A. Tensiometer 1. 0 to <-1500 2 1 4 3
B. Resistance 2. 50 1o <-10000 ) A
blocks 71. What is the pH for maximum
inorganic phosphorus availability X
C. Neutron 3. =100 to <-1500 in soil?
scattering fa) Above 70
D. Pressure 4, 0 to -85 fb} 60 to 7-0 .
membrane fe) 40 to 60
APPATRILS (d) Below 40
Code :

T2. The terms ‘citrate soluble’ and ‘water

faj A B C D soluble' are associated with which
2 3 1 4 of the following?
A B c D fa) Nitrogenous fertilizers

@ 4 1 3 ) fb) Potassic fertilizers

fc) Fhosphatic fertilizers

rc; ‘: g (1: 2D {d) None of the above

fd] A B C D 73. lsomorphous substitution in
9 1 3 4 tetrahedral and octahedral shects

of layer lattice aluminosilicate

70. Match List-l with List-Il and select clay wiperle leads fo- pernpancnt
the correct answer using the code negative charge of the clay. Such
given below the Lists substitution for the mincral

' nontronite occurs in

List-I List-Il _ j

(Nutrient element)  (Chief source in (@) the ‘tetrahedral’ layer
the: S0 (b) the 'octahedral’ layer

A. Nitn 1. Apatit

R _—— fe) both tetrahedral’ and
B. Phosphorus 2. Pyrite ‘octahedral’ layers
C. Potasgim 3. Organics (). the. 'sctabedral’. layer and in
D. Sulphur 4. Mica the interlayer space

N-DTQ-K-CIT/12A 26
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69. §f-1 = g1 | wifsa w7 e .
gfedt % 2 Ry g & @ 5=
fad A B C D
MW : 2 4 1 3
B A. B C. .D
! ‘Fﬁ-lm wefi-11 3 1 4 2
g S (It 4vft kpa) f
) A B C D
%t ) M B R
A. ugEE urdl 1. 08 <-1500 @ A B C D
gt F . ¢ &
B. i @ve 2. 50 § <-10000
C. =gy 3. _100 & < -1500 71. 991 § witswan s wieerm s *
o pH =0 87
D. gl sgwm 4. 0@ -85
(@) 70HFH
e (h) 608 T0
@ A B C D ¢/ 408 60
« & 2774 (d) 40@4R
) A B C D
4 | 3 2 72. ‘fag-gemriie’ o ‘Se-gemie’ w
© A B C D Frafefias 4 & fras o9 w=g 87
¥ 3 1 3 fa) TGN
d A B C D (b) dieeiE I
$ 31 @ % () SRR v
(d) 354w # & whif
70. g1 W gl A gt i qm 73. dRw vfERfEe ot afsl &
e F A9 RBe e gz w1 owwm woad Skl Al sEEEEE wm g
I g A wglos ufmamm @ g § weh
o1 e WU AN W A 2w e %

fom, an whwam Frefafes & & fead

A :ﬁ'@?? 1. wiEmz (a) ‘W'q}m
B. SERiE 2. gEUE (b) ‘merEdn' uw
C. difinm 3. 9| fc) ‘SgemeE’ T sewerdn’ ud
D. Tu% (HeH) 4. IWH =

(d) ‘FEwHEEE U UE A AT
N-DTQ-K-CIT/12A 27 [P.T. O.
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74. The
the liming materials
order is

fc) CaO <CalOH), <

(d) CaO <CalOH), <

(b) 20 and 46
fe) 25 and 45

fd) 14 and 46

correctly matched?

(a) Bihar hairy
caterpillar

fb) Black bean
aphid

{c) Brinjal shoot

{d) Brown plant
hopper

N-DTQ-K-CIT/12A

acid-neutralizing

and fruit borer

*

value of
in ascending

fa) CaCO4 >CaSiO5 >
Ca0 > CalOH),

fb) CaSi04 <CaCOjy <
Ca(OH); < CaO
CaSi0; <CaCO4

CaSiO; < CaCO,

75. What are the nitrogen and P;04

contents in diammonium
phosphate respectively in
percentage?

fa) 16 and 35

76. Which one of the following pairs is

WwWw.jeywin.com

77. Consider the following :
1. Black rust of wheat
2. Common bean mosaic

3. Fusarium wilt of tomato

What is the correct sequence of the
above as seed-borne, soil-borme and
air-borne respectively?

(@) 1-3-2
(b) 1-2-3
€ 2-3-1
(d) 2-1-3

78. Match List-l with List-Il and select
the correct answer using the code
given below the Lists :

List-I List-11
(Crop) (Pest)
A. Chilli 1. Amrasca biguttula
biguttula
B. Cotton 2. Emmalocera
depresella
C. Pigeon pea 3. Mylabris pustulata
D. Sugarcane 4. Plutella xylostella

5. Scirtothrips dorsalis

Dream Dare Win

Code :

) fa) A B C D
Splfﬂsl‘)m 4 5 3 2
obligua

’ i fb) A B c D
Eqme Ayl 4 3
erysimi
Agrotis ¢ A B € D
ipsilon 5 1 3 2
Nephotettix fd] A B c D
virescens 5 2 1 3
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74. FH7 Tl A w0 FwwEa wm
e w27

Ca0 > Ca(OH),

(b} CaSiO; <CaCO, <
Ca(OH), < Ca0O

¢/ CaOsCalOH), <
CaSi0; < CaCO,

(d) CaO <CafOH); <
CHSIDH < CECG::,_

78. TREHtEm wiek: # g sl L0,
% wfoea & wum: e B7

(a) 16 3 35
(b) 20 3 46
fc) 253 45

(d} 14 3N 46

76. Prafefia 3t § @ -w v gt 87

fa) ﬁ%ﬂﬁﬁ'ﬂ!ﬁt e
safergan

(b) & % ufee . fermifeg
aftfermrd

fc) W & wilE . wrifeR
U§ e 49 efieria

(d) 09N $Zw . [AwRRe
AgiE

N-DTQ-K-CIT/12A 29

77. Frafafian v fHan i .

1. W =1 %o farg
2. Y w AHEY G
3. e it wgeifam

IS w1 FAN: g, gag 3 A &
&0 A Wl srgEe w37

fa) 1-3-2
) 1-2-3
fc] 2-3-1
fd} 2-1-3

78. G- # w-u @ gifem ffn qw

qfwE % H= Ry g g w1 wEm = wd
ELS CLg

-1 i1
(wae) (FTrER-w)
A, Tosd 1. e fpgen

Frggen
B. #9H 2. it fidden
C. e 3. wrfefam =yt
D. T 4. SN TEERE
5. ety Shdfm
- T8
&8 B' & P
N Mg gi g
Bk B € D
# & 2 3
BB © D
$ndy 3 .8
) AN B C D
N 2 1.5

[P.T. Q.
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79. Match List-1 with List-Il and select fc) The female moth has whitish
the correct answer using the code forewings with a series of black
given below the Lists : spots along anal margin but
List] ListT male is w?'thuut black spots on

{Diseases of crops) (Transmitting vectors) the: fordirt

A. Stewart's 1. Chaetocnema fdj The male moth has whitish

Ascant oF dikn pulicaria forewings with a series of black

spots along anal margin but
female is without black spols
on the forewings

B. Little leaf of 2. Aphis gossypii
brinjal

C. Coftton wilt 3. Myzus persicae

D. Papaya mosaic 4. Melanoplus B1. Consider the following :

differentialis
E. Cucimber 5. Cestius phycitis Potato virus X is spread through
mosaic 1. the vector, Myzus persicae ¥
Code : 2. contact between infected and
healthy plants
@ ? E: g ? g 3. contaminated knife used to cut
tubers for planting
(b) A B c D E Select the correct answer using the
1 . 3 3 2 code given below :
) A° B C D E thde s
4 5 2 3 1
a) 1,2 and 3
) A+ B €C D E (a)
4 1 5 2 3 fb) 1 and 2 only

fe] 2 and 3 only
80. With reference to rice stem borer

(Scirpophaga incertulas), which one ([d) 1 and 3 only
of the following statements is '
correct?

82. In a tomato ficld, symptoms appear

fa) The female moth has bright as curled leaflets of reduced size,
yellowish brown forewings with ysllowish: in. goMur, gwm%v;:]: ¥
one black spot on each but plants a bushy appearance. Whi

male is without black spot on one of the following is the correct
the forewings name of the disease?

: fa) Tobacco mosaic virus
fb) The male moth has bright
yellowish brown forewings with (b Cucumber mosaic virus
one black spot on each while
Angular 1
female is without black spot on (c) e

the forewings fd] Leaf curl

N-DTQ-K-CIT/12A 30
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(a6t =rarit)

A

79. HH-1 # gf-n | gAkm A awn

i@t & 2 e m g w1 v w g
mﬁﬁ'ﬂ.;
qHi-1 qEf-11
(i TeE)
W A A 1. el
yferbftar

B. ' %1 &Y 1A 2. ufew Migfend

C. 98 # =iy 3. wHrgwrE wiuE)
D. ufd % fd 4. daFrey
fewifiniferg
E. it & i 5. Qufeaw wraniza
Fe
f@@ A B C D E
1 4 3 s 2
fb] A B c D E
1 4 5 g 2
fe) A B C D E
4 5 2 3 1
(dd A B € D E
4 1 5 2 3

80. WM % M J5% (f@aiern swdem)

e § Frafafaa # @ 99w w s
adll #7

(a) W@ e F 30 Y@ avedie de
a@ i F P § e A6 w
UH-TH el we= g 8, g W
F o va fam F vl F o B

b) T I F W GE SRS G
e o W% # # el dE W
U -Ue HIeh We= g ¥, 9 we
¥ 3 va fan w1 u=d & 99 &

N-DTQ-K-CIT/12A
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31

fc) W@ WM F 3 wE whA R
o 8 sk g@ % dwrm & aw-am
A e AW B R, o
e s gt Ham 8

(d) T WM * 3w vm wde fow A
8 3@ F des ¥ aw-a 9@
== F vh gl B, o & aw
v for #ret wedl % 9§

81. Fafafas w fan $ifiw

e 1 X famy e 2

1. WEmes Arw yRE @

2. it sin = Dl % g ged @
3. A W WA | wgw gl = g
™ v w32 = wm o= wd aw
3

e

fa) 1,233

(b) FEE 1 302

() a2 3R 3

fd) Fam 1 ¥n 3

82, TA % @q { Mrmwv @ W &, g3

™ denm fer gu wis dm wdie e
2, Fmd oy wdigw Red 3§
fRefafas § @ F9-11 v g diod =1
il M B7

(a) Ty 1 e famy
fb) it w i
(e} mfra fahi

(d) o F

|P.T. ©.
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are identified by which of the
following?

fa) Pale yellow abdomen and fore-
wings, white hind wings, the
head and thorax being grey

fb) The body is straw-coloured on
ventral side being black

fe) Adults deep brown with black-
spotted forewings and fringed
hind wings

fd] Moths are medium-sized and
wings are whitish bearing
brown patches

84. Which one of the following crops is
affected by ‘Diamond-back moth'?

; fa) Sugarcane
{b) Coffee

fe} Cabbage
fd} Okra

85. Which one of the following would be

shoot and fruit borer of brinjal?
fa) To spray systemic insecticide

{b) To prune the infested shoot
and pluck the infested fruit

fc) Regular monitoring for the
insect followed by pruning,
destruction of caterpillar and
need-based sprays by effective
contact insecticide

fd) Mechanical destruction of
caterpillars followed by sprays
of systemic insecticide

N-DTQ-K-CIT/12A a2

83. The adults of Leucinodes orbonalis 86. Chrysoperla carnea is a

fa)] parasite
(b) parasitoid
{e) predator

{d] scavenger

the dorsal side while the B7. Which one of the following is a

monophagous pest of crops?
(a) Hairy caterpillar

fb) Stem borer

fe) Pollu beetle

(d) Swarming caterpillar

88. Which one of the following is the

safer insecticide to save naturally
useful insects/organisms?

fa) Monocrotophos
fb) Carbofuran
fe) Quinalphos

fd) Endosulfan

the best method to manage the 89. The volumetric efficiency of a spray

equipment refers to the

fa) capacity of a spray tank in
terms of volume

(b) average particle size of the
spray droplet

() amount of spray material
discharged per unit of time

(d) ratio between actual volume of
the spray fluid discharged and
plunger displacement

Dream Dare Win 32
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83. firiies @it % avws had TEem
e &7

(@) T el I T IW TG, G 9y
TE i e i 3 9w

(b) T F W WP GV T H A W
T FTE

(c) &% TE ot 1 F fied am e
Wﬁﬁﬂmﬂ#ﬂnﬁmw
Bc|

(d) W HR SR % 9 g ghe
fern 2o ot == a1

84. F=fafln # 4 a-#t w woe ‘d%-gn
wes J st At &7

(@) Tl

(b) FTH

(e) d=mindl

(d) T ()

85. frafefam & @ a-dt o= fafy & %
Y% 4 % S2% il AN YO aalE
Enfi?

(a) watf Femrs =1 foeae

(b) wa zefEl it we-wl dn T
el F1 gEH

I ) #2 H Fufim Foodt & am
wE-Ble, @ W T FN ¥
HAETHFA  AFER W wE
Frems w1 fvgwm

(d) =fEEl = aifEd €1 @ qv a gath
Fremes = Bewm

N-DTQ-K-CIT/12A
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86. Frgaiwen wnfar frefafiaa § & w0 87
(a) A
(b) wiEEEY
fe) TTaEf
(d) TSR

87 Fefefan & & #hv-w vs w=md
wandies 27

(@) Triem gE

(b) W BEw

fc) g

(d) geaTER (w=fifn) @

88, fFr=fefEa # @ #-w & wofhe = @
ol el /dEt W oaeE | wem,
qiftra Fraams 27

(@) WHGREEE
(b) FETETA
(c) fiwrersia
fd) TERHEEH

89. oz Fyms i smwaht zam fed fiffe
FAT 87

fa) Tewm @ & smwaw & w9 #
wiftan

(b) Fen fagw = 3iwa S s

(e} wfe wwré woa i wrmfda gew @
& g

(d) Irafda Fer @@ % arafas s
we & e & i s

[P.T.O.
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90. Which one of the following pesticides 93. Which of the following plant species
is used for fumigation control of are reported to possess insecticidal
insect and rodent pests in stored activity?
grains, grain products, in empty ;

; ; 1. Agerat
warehouses and packing materials? geratin coryzmides
(a) Parathion methyl 2. Aszadirachta indica
) Proposr 3. Chrysanthemum cinerariaefolim
4 .
() Phorate Saccharum officinarum

(d) Phosphine Select the correct answer using the
code given below :
91. Consider the following insecticides .

Code :
1. Carbofuran

2. Chlorpyrifos fa) 1 and 4
3. Cypermethrin

4. Fenitrothion

fb} 1 and 2 only

feg 1,2 and 3
Which of the above are non=
systemic insecticides? fd) 2,3 and 4

fa) 1 and 4

94, Which of the following insecticides
can be used for seed treatment?

fej 1,2 and 3 1.

fb) 1 and 2 only

Imidacloprid

(d) 2, 3 and 4 Carbosulfan

2
3. Carbofuran
92. Consider the following : A

Acetamiprid
1. Beauveria bassiana
Select the correct answer using the

2. Metarhizium anisopline code given below :

3. Paecilomyces fumosoroseus

Which of the above isfare used as Code :
biopesticide(s)?
1 d 4

fa) 1 only (@) -

(b) 1 and 2 only (b) 1 and 2 only

fe) 2 and 3 only fe) 1, 2 and 3

d 1,2 and3 {d) 2,3 and 4
N-DTQ-E-CIT/12A 34
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90. Ffafes & & Fw-m w dewmh
WeTita T, 3@ Ieel, =@El @
et 7 4 el & g g 9 5
Fhl o e % s e s 27

(a) Pafasia R
(b)

(c) Witz

(d) wiEhE

91. Fmfafian izl o faw Fifsu
1. wETRTE
2. FEmTEiETE
3. @EwmdE
4. SRR
I F | F4-2 srgath Sz §7
(a) 1304
(b) Faw 1 32
) 1,233
(d) 2, 334

92. mﬂﬁ?ﬂﬁﬁ?:
1. @Eftar sifdarn
2. Herwzhirm uftgie
3. Afetaridts wpefes

IR A & A/ A e & W
# wen e /d /87

(a) A« 1

(b) Hae 1 3 2
(e} Fae 2 3in 3
(d) 1,2 3R 3

N-DTQ-K-CIT/12A

35

93. Frafefas 6 uren wifidl # e

wigraa g w87

1. w2 Higsiee
2. wifElee ifEw

3. migdliom fadtfretfeay
4. g shfefirm
R Ru m Hz w1 wm W owd Iw
EELE

e

fa) 134

(b) w1 3w 2

g 1,233

(d) 2,334

94. frafafgs Feaws & 4 F-9 49

39N % fore awEm R an w37
1. ghdesiie

2. WEHEEHH

3. WHETREEH

4. udffiz

T2 w2 oW oym W oad Iw
9

H :

fa) 13R4

(b) a1 3w 2

fcg 1,23R3

(d) 2,334

[P.T. 0.
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95. Which of the following nozzles 98. Which one of the following sprayers
should be recommended for the would require maximum volume of
effective application of weedicide? solution to cover one hectare of
fa) Cone-mist type nozzle wheat crop?

(b} Centrifugal type nozzle fa) Low-volume sprayer

fe) Three-action nozzle

b) Knapsack sprayer
(d) Flood jet type nozzle ® g e

(c) Atomizer
96. Consider the following
d) Ultralow-volume sprayer
Disadvantages of dusting include (& g

1. loss of chemical due to drift ) N :
99, Which one of the following is the

leading turmeric producing and .
trading State?

2. less efficient deposition of dust
particles on plants

3. tendency of <chemical to

scparate itself from carrier fa) Andhra Pradesh
material

4. increased toxic hazard to the (b) Kerala
operator

fe) Maharashtra
Which of the above are correct?

fb) 1, 3 and 4 only
(¢) 1,72 and 4 only 100. Consider the following statements :
' 1. Eugenol is the major
) 3 frsaa component in clove oil which I
has anti-microbial properties.

97. A farmer grows cotton, maize and
wheat on 1 hectare, 5 hectares and
4 hectares of land respectively. The
average yields of cotton, maize and
wheat per hectare on his farm are Which of the statements given
4 q, 20 q and 25 g as against State above isfare correct? .
averages of 5 q, 10 q and 20 q for the
respective crops. What is the crop-

2. Ellagic acid which is anti-
carcinogenic is found in h
pomegranate juice.

yield index of his farm? (a) 1 only
fa) 158% fb) 2 enly
(b) 148%
o 229% (c/) Both 1 and 2
a
(d) None of the above fel) MNeither 1 nor 2
N-DTQ-K-CIT/12A 36
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95. Prafafas guel 4 4 Fw-dt wwmEn
TRl & e s & foe s A
It =nfeg?

(a) TF-FEH FHR ) qUE
(b) 9k wER H e
fc) FafEm gue

(d) W W2 wER i gue

“.ﬁﬂﬁﬁfﬁﬂmﬁﬁﬂ%‘z:
whi (3fEn) & s e §
1. @%@ & Hv W 7
2. gE-% F Nl w0 2y Pl
3. W R wd ans wd § sen
#1 #i wafy

4. waew F fou wg ogen snfg
we

I § # FH-3 6 §7
(a) Faw@ 1, 233
(b) =% 1, 3 3N 4
() #aw 1, 2 3 4
(d) 1,2, 334

97. W TEW #ww, wan i W s
1 390, 5 ¥ 3 4 ¥Ew wfig W
Imar ) 39w woufy dew e,
v A A shew aww, wew sima
5q, 10q 3 20 q #t gen & wHw:
4q, 20q 3 25q ¥ WF v =
HHE 399 GEEE BT
(@) 158%

(b 148%
fc) 125%

(d) I & § *d T

N-DTQ-K-CIT/12A

a7

98. fimfefan el # @ fbw uw #1 W A

UF ¥ HE H e = & for
e & sfuwan wmen € s
gelt 87

() Tt s pew
(b) AH® FETH

(c) Wi

(d) =fa = e s

99, Fafeflan 4 4 #i-w v 91 =0

feran @ @ s w3 7 st 27
(a) WY TN

(b) e

(c) WEWR

(d) g

100, Frfeaflas st o fan fifiw .

1. gl dn & ¥ = ge wes
Forat gemsfia-deft qor 2y

2. fE s W w2
AR % @ F 9w = 2

I wuAl & B-w/8 wd ¥/87
fa) FaE 1

(k) ¥ 2

(c) 1 3w 23

fd) sdr1siadf2

|P.T. O.
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101. Which one of the following pairs is 103. Match List-l with List-1l and select
correctly matched? the correct answer using the code
given below the Lists :
rﬂj Averrhoea H 2n=24 List-I Ligt—IT
carambola (Kind of fruit) (Crop)
A. Berry 1. Peach
(b) Pmnust : 2n=18 B. Pepo 2. Apple
AT C. Drupe 3. Squash
D. Pome 4. Citrus
fe) Vitis vinifera : 2n=48
Code :
(d) Ficus carica : 2n=18 fa} A B & D "
2 3 1 4
bl A B e D {
102. Match List-1 with List-l1l and select 2 1 3 4
the correct answc}' using the code ) A B C D
given below the Lists : 4 3 1 2
List-i List-IT @ A B C D
Vegetable) (Specific 4 ! 3 2
characteristic)
A. Chow-Chow i Trlersds 104. Match List-l with L1st—!l and select
the correct answer using the code
B. Bitter gourd 2. Single sced given below the Lists :
C. Muskmelon 3. Peduncle spiny List={ List-II
. {Crop) (Method of
D. Cucumber 4. Full slip propagation)
A, Marigold 1. Terminal cutting
Code : B. Tuberose 2. Corm
C, Carnation 3. Bulb
@ A B C D D. Gladiolus 4. Seed .
2 4 1 3 Code
D -
) A B C D fal ‘:‘ 2 E’ 5
3 1 4 2
ok B P
| f) A B C D T & SN
I 2 1 4 3 g A B € D
| 4 3 1 2
id) A B P D {d) A B c D
3 4 1 2 1 4 2 3
N-DTQ-K-CIT/12A 38
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101. Fwfefas # § #9-w1 % gm gifem 27

(a) VATEw dwEeT ;. 9n=924

(b) FA8 srifRsE ;. 2n=18

(c) amEfea fafy

(d) wIEFEG Hfwr

102, g1 % gdf-n 4 gifm Hfo
w9 faw g e W wm

I qA
-1
(w=dt)

A. TIF-I91F

B. &

C. =g

D. @

2 :

(@) A B
2 4

(b) A B
3 1

el A B
2 1

{d A B
3 4

N-DTQ-K-CIT/12A
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2n=48

2n=18

=11
(P arfirersmn)
1. #fem
2. wHE W
3. Fden qeEfa-da
4. ol fmfife
C D
1~ 3
C D
4 2
¢ .b
4 3
C D
1 2o

103. g F wh-n @ gfem Hiftm aar

qf¥at & 9 fw gz = owdn w0 owd
mqﬁq:
-1 HEi-1I
(we =1 9wR) (waer)
A wH wa () 1. 3%
B. b 2. #w
C. #fiw 3. @&
D. 9% 4, fww
B
@@ A B C D
2 3 1 4
) A B C D
2 1 <
) A B C D
4 3 1 2
@ A B C D
4 1 3 2
104. gl ® g1 A gifes fAfw aw
it % 912 foq m g2 @ v = wh
mgﬁq;
Teft-1 eft-1n
(wwer) (weneder &y fafr)
A. T 1. 3 Fely
B. =&t 2. Tg
C. FHTH 3. TeHE=
D. wfgsiiem 4. &=
Fe
@ A° B C D
1 2 4 '3
A B ¢ D
4 1 3 2
) A B C D
- Al 1 2
dd A B C D
Piredgriug g

39

[P.T. 0.

Www.jeywin.com



Dream Dare Win WWW.jeywin.com

—

105. Consider the following crops : Select the correct answer using the
1. Mango code given below :
2. Sweet Orange Code
3. Pomegranate
4 e (a) 1 and 2
Which of the above crops are fb) 1 and 3
commercially propagated by shield
budding? fe) 2 and 4
fﬂ} 2 and 3 fdj 3 and 4 !
(b) 3 and 4

108. Which system of planting accommo-
dates maximum number of plants -

fc) 2 aad 4 per unit area for a given spacing?
(d) 1 and 4 {a) Triangular system
106. Which one of the following is the best (b} Square system
method of vegetative propagation in
Aonla (Emblica officinalis)? () Hexagonal system
(a) Veneer grafting (d) Quincunx system

(b) Air layering 109. Consider that in brinjal, fruit set

() Chip budding fulzi::;sa m the following types of
{d) Patch budding 1. Long styled
2. Medium styled
107. Consider the following : 3. Pseudoshort styled 1
The two most important reasons 4, Short styled
[;1; t::hldng NP QARG Und. TS Which of the above are correct? x
1. change the cultivars of (@) 1 and 3
established plants
develop new hybrids {b) 1 and 4
3. obtain the benefits of some fc) 1and?2
rootstocks
4. control virus diseases fd) 3 and 4
N-DTQ-K-CIT/12A 40
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105. Tn=fefas waal w fH=n fifm .

1. =MW
2, H/F
3. #IN
4. T

I # ¥ wA-d wwe ol s @
BIel S9H1 S yalda &) sdt &7

fa) 233
(b} 3 3M 4
¢ 234
(d) 1 34

106. Fafefiam d & =w-dt w @

(vafers  siTofAfr) % A
st ) wdtem faf 37

(a) AR Fem
(b) T A
(c) Tacdt svm sgmn
(d) % won SgE

107. Fr=afafis w fG=m i -

e 7 9 A 2 el Fwor §
1. wivm ddi H FRergenfet &

ECEic
2, AU T = Ewm

3. &9 yEgar @ §m e
4. Taum T & feaw

N-DTQ-K-CIT/12A 41

2 R 52 =1 wm W wh IW
gfim

e :

(@) 13w 2

() 133

fe) 234

(d) 334

108, Frafefaa d & dom 6 #a-d goeh o

e wm 4, vfa wrd &, sifteam dhl
1 garEifee s 27

fa) FrEpmmER g
(b) aiER o
fc) Wi woTTEh
(d) Gl S

109. faam #ifs 5 Fm 3§ F=felfes = &
Gl § He A

1. ot e et

2. wegw affe T

3. et =g 9l 9@
4. g 3fdE a=

I | | w9 ad 77

(@) 133

(b) 134

fe) 132

(d) 334

[ET. O
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110. The rosetting in pome fruits is due to

fa) molybdenum deficiency

(b) nitrogen deficiency

fe) magnesium deficiency

(d)

zinc deficiency

111. Which one of the following tomato
varictics is indeterminate type?

fa) Punjab Chhuhara
fb) Pusa Ruby
fc} Pusa Shectal

fd) Pusa Early Dwarf

WWW.jeywin.com

113. Which one of the following pairs has
the highest level of vitamin A and
calecium?

fa) Turnip green, Kale
fb) Celery, Brussels sprouts

fe) Drumstick, Chow-Chow

| Sechium)
fd] Amaranth, Swiss chard

114. Sodium benzoate is added for the
preservation of the fruit juice in the
concentration range of

fa) 0-01-0-5%
(b) 0-06-0-10%
) 11-1-5%
(d 16-2:0%

115. Consider the following :

1. Cuttngs
112, Consider the following growth
regulators : 2. ‘Seeds
1. GA 3. Suckers
2 IBA By which of the above is
. chrysanthemum propagated?
3. NAA
fa) 1 only
bl fbj 1 and 3 only
Fruit set in chilli can be improved fc) 2 and 3 only
by the application of which of
the above-mentioned growth (d} 1,2 and 3
regulators?
116. Among the following States, which
la) 2 and 3 one has the highest area under
jasmine crop?
fb] 2 and 4 fa}) Andhra Pradesh
(b) Tamil Nadu
fc) 1 and 4
fc) Goa
fd)l 1 and 3 fd} Kerala
N-DTQ-K-CIT/12A 42
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110, 9 %ell § yofyesa =1 &0 www 87 113, Frfefiaa & @ e o qm # faafim A
i %o = sifiwam 7
(a) WiefrE2aw @ b
(a) ®Q wewem, e Mt
(b) TEErEA g b) o, wdew vz
(c) Wafivm dman (c) wHRw, -9 ()
PR T — (d) <rend, e =
114, %t & @ & vfgw & fou diftam d=ie
111,z # Frafaf # @ -6 w B e iz srgeme # e s 27
wfuife yen 6 o 27 fa) 0:01-0-5%
P e— b) 006-0-10%
fe) 1:1-15%
(b) T w= {d 16-2:0%
) o 1185, fFrefefes o fan £t .
(d) gE 3reAt grh 1. wem
2, =
112, F=fafas ofs Framsl w fEm fifi 3. s
1. GA 0w § & qeaed e Bt g vafis
#1 = 87
2. IBA (a) F&& 1
3. NAA (b) %A@ 1 33
4, 24D fe) Fam 233
o o P 3 @ fee srgram @ "1, 4a%s
H
T e s ¥ 116, PRy Gob 3 fen o oo i el
(@ 233 F wHe & wia Afewaw 47 §7
(b) 234 (o). S
(b) afieg
fc) 134 © e
(d) 133 (d) &
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117. Match List-I with List-1I and select
the correct answer using the code
given below the Lists :

List-I List-I1
A. Herbaceous 1. Bricking
border

B. Mughal garden 2. Tree of solitude

C. Japanese garden 3. Baradari
D. Lawn 4. Back and fore-
ground
Code
fad A B C D
1 2 3 4
) A B C D
1 3 2 4
c/ A B C D
4 2 3 1
[ A B C D
+ 3 2 1

118. Match List-1 with List-1l and select
the correct answer using the code

given below the Lists :

List-I List-IT
{Crops) {Disorders)
A. Gladiolus 1. Bullhead
B. Carmation 2. Neck bending
C. Rose 3. Tip burning
D. Gerbera 4. Calyx splitting
Code :
faj A B c D
3 4 1 2
(B) A B C D
3 1 4 2
fc) A B C D
2 1 4 3
fd] A B C D
2 4 1 3

N-DTQ-K-CIT/12A
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119. Match List-I with List-11 and select
the correct answer using the code
given below the Lists ;

List-] List-11
A. Hops l. Glyeyrrhiza glabra
B. Ambrette 2. Salvia sclarea
C. Clary sage 3. Abelmoschus
muschatus

D. Liquorice 4. Humalus lupulus

Code :

fa] A B C D
4 1 3 2

B A B c D
4 3 1 2

fcl A B e D
2 3 1 4

(dl A B C D
2 1 3 4

120. Consider the following statements :

1. Withania somnifera is an
annual plant.
2. Plantago ovata is a small

perennial shrub.

Which of the statements given
above is/are correct?

fa) 1 only
fb) 2 only
fe) Both 1 and 2

{d} Neither 1 nor 2

Www.jeywin.com
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117. g1 = g1 | gafea R, gn 119. gl # qfi-n ¥ gifem Hifsw @

giEl & = fu o= w1 owm = oad Hfewi % 2 faw g = oW = oad
g ; I gf :
He-1 -1
A wFmatd 1. da-ferd -1 -
B. § e 2. F % wichegs A Ff 1. fefissn @
C. smrl M 3. sl
D. wlx 4. w8 a g ¥ B. &2 2. wifeear wfa
%2 C. i #= 3. yamwieSd wEaed
WA B € D D. gad 4. giemy wyEg
1 2 3 4
b} A B C D w2
1 3 2 4
© A B C D @ A B C D
4 2 3 1 Ry = =
& B & B ® A B C D
4 3 2 1 ¢ 5 1 2
118. g1 A g1 ¥ gfw AR 70 £) A° B C D
gt & A R o gz w owam wwd 2.8 ¥ 4
mqﬁv,;
. g & AV B ¢ D
() (Rresro) 2 % 3 4
A. wifgdiem 1. gEds
i 2. e ¥ 120. Freferfas st o faan $ifew
C. o™ 3. =um . R anf o aiffs G @
D. SHE 4. awEEIS AT
2. N HiErr U 91 agadia AN
we (3
e 3 T e s it 3 @ A-a/d ad b8
()} A B C D fa) #HaE 1
3 1 4 2
) A B C D (b) ¥ 2
. ool c) 1 323
@ A B € D
2 4 , (@ Fd13dAd 2
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SPACE FOR ROUGH WORK
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T T AT qg Tl gfeen @i w1 9 W 9 aw aw T e

# .4 ., : N-DTQ-K-CIT witaror gfeaaT sgmw
WY HE
18773 AT giwaeht A
wHiv-fasm
W ;9 e QU : 300
#ITw

1. wﬂmmm%mm,mwuﬁmgﬁmﬁmmmﬁﬁswﬁﬂiﬁmw.w
G F E s wEin enfd 3 g A o, A 5@ wd whew giee @ e shf)

2. I-wEs # Wt T o e gfée sgEn A, B, C w D qurfufy we vy @ geae S

3. W view qfemm W oam A Ru o owew # s s
sz foman R wliew @ w oo g 3 ol

4. w0 yiaw gfee 7 120 v (vm) e m §) vde wwin = o s 89§ onr 81w v &
e (FR) e e @ o v A 9 A, Bl e w s won e §) 3R s
&mvﬁﬁﬁqa;ﬂmﬁﬁmmﬁ,eﬁmﬁmaﬂﬂﬁmﬁﬂmmaﬂ:mm%h
A T N W T

5. W9 I i T wem 8§ Ry o swews W@ sifer w0 1 aeews § Re o fEn e

6. ®ft wwiw F iw wwm §)

7. R e B whem gfem F ffm e % sem swes wosifi son g S, A
-3 % W WfE sEd % s 9 fem ameoes & 3§

8. 5 I W WA v § 90 F W aw ofm F o @ e Tw-as adies ® g 3
o 39w wlan gl @ a R s 2

9. = ®W F fow v vhew qfSE F s & waw
10, wEw i % foe 2w -
FgFE SE-uEt # IeftmEn g Ry e e Tt % e ave B wmem)

(i) e e & for w4 et &) Iofizam g vk v % R R o o em e 3 fe
Fram fom sl @ wwn-faerd (0-33) w2 & w9 § w=1 W W

(ii) R ¢ Fefizan vz & wfow 3o 2 B, 9 9@ Ew 3w A Aen, w0 By T s § @ o o
o ®, 6 oft 30 vm & o swdegem @ o T W qve e s |

(iif) af wefizam g # we g@ @ fen e ¥ sefn efeEn oo T A T 2, @ oaE T S
=g que Tt e smom h

W W SUE! AR Uitmor giern @i w A WE WU A" T et

Note : English version of the instructions is printed on the front cover of this Booklet.
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